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Seat No.

Enrolment No.:

Gujarat Technological University

Diploma Engineering C to D Bridge Course Examination

Subject Code: C300008

Subject Name: APPLIED MECHANICS
Time: 10:30 AM TO 12:00 PM
Instructions:

Make suitable assumption wherever necessary.

Date: 06/06/2016

Total Marks: 70

Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)

1. Attempt all questions.

2.

3. Each question is of 1 mark.
4,

5. English version is authentic.

Neo.

Question Text and Option. Y# ol [Asel.

A scalar quantity has

1. [A. | Direction only B. | Magnitude only

C. | Both magnitude and direction D. | None of above
w2l A alu 8.

1 s5ct (Rau B.

Co | Rat wa yeal wd D. | Guzel uiel Slsuat =
Which of the foilowing is a vector quantity?

2. | A. | density B. |energy
C. | temperature D. | momentum
lBatniell s ulal AR &?

2. | A daldl Bl afsa
Codlumiet D. | Qo
Which of the following is not a fundamental quantity?

3. [ A |length B. | mass
C. | volume D. | time
Al AouHiell 58 ynejd AR «tell?

3. | A | dous B. | gcatyet

5E HHY
The unit of power in S.1. unit is

4. | A. | Pascal B. [ Newton

C. | Watt D. | Joule
UlelR ol 8.1 ugld 1l AsH

8. A | uesa B | oyeet
C lde e
Effect of a force on a body depends upon

5. | A. | magnitude B. | direction
C. | nature D. | all of the above
el UR olinofl U2 ollAstimiell Aot UR WHIR AW B

Y.

A R B. Ifzau

http://www.gujaratstudy.com

1/11



http://www.gujaratstudy.com
http://www.gujaratstudy.com

http://www.gujaratstudy.com

C ysi | D | Guaatt vt %
1kg=
6. [A [98IN B. [IN
C. | 100N D. [0.5N
0.9l =
5. [A. [98IN B. [IN
C. [ 100N D. [ 05N
If 250N force is acting on a point towards North-Fast direction, then force is in which
7 quadrant?
© [A T4 B. [3rd
C. [2nd D. |[1st
5L 250N ol 818 W5 (g UR Griz-ydl (B au Hi cdid 8lal ol o s2UL URH
3. é%\"
A. [4th B. [3rd
C. |2nd D, | Ist
For the parallelogram law of forces, equation of Resultant force is
8. |A. |R=2PH2Q+PQ CosB B. |R=P*+Q*+PQ CosO
C. | R*=P+Q™+2PQ CosO D. |R=P>Q%2PQ CosO
GlOL ol AHLIAROWY ULl ol [ 12, uRBeuHl wo of ¥
¢. A [R=2Pt2Q+PQ Cos® B. |R=P+Q~PQ CosO
C. | R? = P*+Q*+2PQ CosO D. | R=P*+Q™+2PQ CosO
The conditions of equilibrium of coplanar concurrent forces.
9. A TZH#0, IV B. [ZH=0
C. |zv=0 D. | ZH=0, =V=0, R=0
urdella douHl weletl HHAleet ol ARl
€. | A [ZH#0, ZV#0 B. [ZH=0
C. [zv=0 D. | EZH=0, EV=0,R=0
When a body is said to be in unstable equilibrium?
A. | When it occupies a new position B. | When it returns back to its original
10. position
C. | When it does not returns back to D. | None of the above
its original position
weldal vraRl daHdleet Hi s sdoldl wWa 8 ?
A oai? A otcll worudl B2 A B | sk A you RAQ Ml wg 2
0. — -
Colo Ay RARA Ml wg ot | P | Gurett Hiell Slougl R
e
For a coplanar concurrent force system if ZH = -ve and ZV = -ve, the resultant force is
1 in which quadrant?
Clal B. [2™
c. [3" D. [4"
ezl @l sauEBd W2 %l TH=-ve ol TV=-ve, 8lat dl UReuHl snl
2l UEML Slat?
9.
Al uda B. | oflont
Co sl D | e
Forces are called concurrent when their lines of action meet at
12. | A. | One point B. Different points
C. | Different plane D. | None of the above

2/11

http://www.gujaratstudy.com



http://www.gujaratstudy.com
http://www.gujaratstudy.com

http://www.gujaratstudy.com

ool Aol el sdala v duell sl
2. [ A | As Lgul ud B. |%El xel [Glgui 1

C. | €L %EL AMeted U D. | Gurel wiell Asuy B

Polygon of law of forces can be used to determine the resultant of
13. | A. | Two forces B. | Three forces

C. | More than three forces D. | All of the above

oo ofl Welollet oll (A2 8lof uRguH dllucu cuzia B2
13. |A. | A wal B. | =@l sl

C. | 2Rl scll dUR sl D. | GUR <l vt o

The resultant two concurrent tensile forces is minimum, when angle between them is
14. A [0 B. [45°

c. [ 90 D. [ 180

A ol WAL wolle] URBUHL st R el U3 dHetl ¢ ol
ey |ugl &

A [0 45°

C. [90° 180"

For system of forces, the angle of resultant with horizontal is calculated by which
15 equation?

T | A, | sin© =EXH/ZV B. }tanO=XV/IH

C. |sin© =ZV/EZH D. |tan©=ZH/ZV

el ol yeuell 12, uReual sioe] wHE R 8 wEl sal YA ol He el
qy. | 2Ll seu e B?

A. | sin® =XH/ZV B. |tan©®=EV/ZH

C. |sin®=XV/ZH D. | tan©® =ZH/ZV

Equilibrant force is

A. Unequal and parallel to resultant | B. Equal and opposite to resultant
16. force force

C. Unequal and unparallel to D. All of the above

resultant force

UHAEAS ol

A | yReul e My uR duicz | B | uRedl s uy ua ua
1s. _ _ (@Al

ColwRanll and way s uat | D | Guzel sl o

UHidR o}

The unit of moment is
17. | A, | Newton meter B. | Newton/meter

C. | Meter/Newton D. | Newton/meter®
19, | HlHzel AsH 8.

A | yzat Hle? B. | oyeet nfleR

Co | lleR fejeat D. | oyzat plle2?

Which of the following is an exampie of a couple?
18. | A. | Tuming the cap of bottle B. | Twisting a screw driver

C. | Steering the car D. | All of the above
a¢. | ol Aouniell 53 olnzyome] Gele B
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A dledd alse Wad

B | agsi6eR ol 3 Qausa

C. ezt Wladlat e 3oy

D. | Guzetl st

If a beam has one end fixed and other end free then it is a

19.

A. | Fixed beam

B. | Overhanging beam

C. | Cantilever beam

D. | Simply supported beam

L oflHoll A B ottt it ol B Yot dlat Al A ollud

_ sdalal,

A ot ol

B. | welz cedel ollu

C 1l ougrizg ol

D. | ysct dla 2sct olln

If a load is distributed equally over an entire len

th of beam then the type of load is

20.

A, | Point load

B. | Uniformly distributed load

C. | Uniformly varying load

D. | Concentrated load

o{lHell coues u Asuull Ad ad)

GULOUR & 53 ©

0.

A | ElgenR

B. | :uRclBd oz

C | auuBRadleuz

Do | 5Reuz

A couple is a formed by

21

A. | A single force

B. | Two equal and opposite forces

C. | Three equal and opposite forces

D. | None of the above

oM Aof tiatc] Sl B2

4.

A Qs s

B3 dui e @gea ool

C | ot uRuil ual Qg et vl

D. | Guzet 1igll Reua AR

A 1T m long cantilever beam AB is subject
value of moment about point A.

ed to UDL of 20 N/m over entire span. The

22.

A. |40N.m

B. [30Nm

C. |20Nm

D. |10N.m

2R,

s 1 {122 ctiow cugtuel ol AB ot @yl alou GUR 20 N/m oll AUR AR

el Al B, (elg A ofl et e 2,
A. [40N.m B. |30N.m
C. |20Nm D. | 10N.m

Principle of the moment is based on

23,

A. | Law of Parallelogram

Lami’s theorem

C. | Law of polygon

=i

Varignon’s Principle

vyl oll Rtric

2 UERE)

23,

A ARGy AGHElRL ol B2t

B | el A uia

C. 1 Qellollet o1l Rlan

D aRoclstell Reuid

24.

A point load is acting on

A. [ A point on the beam

B. | Atthe end of beam

C. | The entire length of beam

D. | All of the above

(dlgeiz Slot uz Asdlol e B?

Y.

Aol ot (Blg uR

Bo | ofla ol S5t uR

G T oftaofl ydl ciows uz

D. | Gurell oluf %

25.

For the equilibrium of coplanar non concurrent force

A. | The sum of moments of all forces
shouid be constant

B. | The sum of moments of all forces
should not be zero

C. | The sum of moments of all forces

D. | None of the above
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| should be equal to zero | |

ardcla wRibIe e ol A dletst w2 ,

A Lol o sellelt Adeell wradl | B | i o otollotl Wileodl ucdll
M. wUR 9ol ol U HBA

Co |t o ddllell AAzell dreud | P | Guzet wigll sloual @

ol MIU0IR

The reaction of the simple support of the beam is always
26. | A. | Horizontal B. | vertical

C. | Inclined D. | none of the above

oflotl el 20tlR uR ylAlseu o gdlau alat,
es. | A | wd@Qx B. | Geat

Colai D. | Guzel vigll slsuat R

Resultant force of couple is equal to
27. 1A, |0 B. |1

C. |10 D. 100

wngom of uReul wa 8lat.
9. A To B. |1

C. |10 D. | 100

A simply supported beam carries supports at
28. | A. | One end of beam B. [ Middle of beam

C. | Ends of beam D. | None of the above

Y5t Ild 2sdet ol uR »é sl 8.
¢ [A | olliott Ws BSLUR B. | oluetl wrat 1

Co | ollHou st uR D. | Guzen migll Agwa «t&l

The centroid of a semi circular shape of radius “r” is
29. 1A, | (r,3r2n) B. | (r, 2r/31)

C. | (r, 3r/4m) D. |(r,41/3 )

“r Ragaul ata wUd ada o Ratda
¢ TAL [ 3r27) B. |(r,2t/37)

C. | (r, 3r/4n) D. | (r, 413 n)

The centroidal distance of an equilateral triangle of base 15 ¢m & height 9 cm is
30, |A. [(3,%cm B. [(59) cm

C. (3,5 cm D. {(5,3)cm

g Aoty Bl 3 Boll uel 10 A+l ua Art 12 AL & A Aol HraBa of
30. R

A | (3,9cem B, 1(59%cm

C. |(3,5cm D. [(5,3)cem

Centre of gravity is a point at which

A. | Entire mass of body is B. | Entire Area of body is concentrated
31. concentrated

C. | Entire Volume of body is D. | Entire Length of body is concentrated

coneentrated

o)pcctda s A (Blg B Foll UR
319. - .

A | clad of UMl sclHlot FRd I B. ‘ e of ML Angn Fad wde 8l
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22 8l
C | cg o #n0L 5€ 3Rt 2 Q| D | clag of unal clous 30 udell A
For a horizontal wire AB having length 100 mm, the value of X from point A is
32. (A0 |B. [50mm
| 75 mm |D. | 100 mm
U5 100mm ciell A Rlect ezl AB U2 7 ol A &l B
32. A. 10 |B. [50 mm
[ 75 mm 'D. | 100 mm
If the area is symmetrical about Y axis, then the centroid Lies on axis.
33. JA. [Xaxis [B. [Yaxis
C. | BothX and Y axis | D. | None of the above
% 518 850 Y il A wARRA At Al Aef AiBs JEIRTERNT )
33. | A | xudl {B- Y udl
CoIxua yudl | D | Guao uisll Sleunl «8l
Symmetry of “I" section is about
34. (A | Xaxis |B. [Yaxis
C. | Beth X and Y axis | D. | None of the above
“I" Aseet HIZ2 AARAEA udl s e
3y, [ A I xudl B lyudl
Clxuayudl GuRel Higll Asua o8l
A circle has
35. | A | Two axes of symmetry B. | Three axes of symmetry
C._ | Four axes of symmetry D. | All of the above
adm ol
3u | A | A aHR@ udl B ol auBAR udl
Colar wxAR udt GURell oltlly
The area of a Tr1angle having width SOmm and height 80mm
36. | A. 400 mm . [ 30 mm?
C. | 130 mm’ . 200 mm?
as A5G Roll UBlous 50mm uU Gauts 80mm 8lal dll dAej A5 ¥ag A2
35. A, Ta00 mm B. [30 mm’
| 130 mm? D. | 200 mm?
The area of a semi-circle is
37. A [aR° B. |nR%*2
C. | aR™4 D. [=R*8
sl of Axsm
39. [A. [ar? [B. [aR%2
C. |aR%4 ID. [ zR%YS8
From the following shape for which Centroid can be calculated
38. | A | cube B. | Circle
C. |cone D. | Sphere
ofl Al iell s2u 2us12 12 Axda otall wsia B9
3¢ [ A Uat B ada
C. | 4 D | s0a
39. | The coefficient of friction is depends on
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A. | area of contact B. | shape of surface
C. | strength of surfaces D. | nature of surface
R ETEREMOTE U @l B
s | A dub audl e ast B ] alub awdl ot vusiz
Co | awdtoll cusic Do | audl st ysiz
Static friction as compared to dynamic friction is
40. | A. [ same B. | More
C. |less D. | no any relation
@Acs wel A alds el ofl AvuHell |
¥o. [ A |y da B aw
C. |2y sl Do 1 e wioint atell
The friction force acts in direction of motion,
41. | A. [ Same B. | Opposite
C. | Perpendicular D. |Inclined
udglanafdell R Hicud 8.
¥4, (A | ueudl B. | @z
C |l da D. Faal
If limiting friction is 20N and Normal Reaction is 100N, then the value of co-efficient
4 of friction is
LA 120 B. |80
C. |5 D. {02
R HaTiH dlown 20N 4 dol ylal3au 100N dlat Al axdes o Bud g,
¥2. (A 1120 B. [80
C. |5 D. |02
Angle of Friction is always equal to
43. | A. | Angle of Repose B. | Normal Reaction
C. | Limiting Friction D. | Static Friction
udel slet weHa. ol Ruw Sl d.
¥3. [ A | [Qsun Al B dlol y@Bau
C. | nertH wslon D. | @ds udgl
The co-efficient of fr1ct10n is equal to
44. 1 A. |sing : B. | cose
C. |tang D. [cotg
utUs ot Brc_ ol sRiez QB
¥¥. A [sin [0) B. |cosp
C. |tang D. [cote
Reciprocating of piston inside a cylinder is an example of
45. | A. | Sliding friction ' B. | Static friction
C. | Rolling friction D. | None of the above
dlclls2oll ez sl Meat  Gels2wL B,
¥u. | A Faeussloludel B. ! @Qs udyl
C. | Aellot urdel D. | Guzet Higll Slsugt «(&l
According to laws of static friction, the limiting friction is
46. | A. | Equal to normal reaction B. | Inversely proportional to normal
reaction
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C. | Directly proportional to normal D. | None of the above
reaction
RAcs wrlgl ot Qe yever, Hal o ude 2
¥s. | A | oliie dlAsetel A R B dllet dflsaet A Qg aHymg
€] ebiet AAseuet A Aly wnysue | D | Guet uisll Ague «14]
When a body is subjected to force P, and it is at rest, what is the relation between P and
E?
47. A. |P=F B. | P<F
C. |P>F D. | P=2F
FUR UEL W2 P ol ctd B Al ueled Rz At U P wal F a2 o)
v, | ol g dla B2
A. | P=F B. | P<F
C. |P>F D. | P=2F
The friction experienced by a body, when body is at rest, is known ag
48. | A. | Static friction B. | Dynamic friction
C. | Rolling friction D. | None of these
wU? Ueld RAR Al R Uogclcl udal . 53D,
¥e. [A [RRAs wdal B [a@s uxiwl
Co | Aellor unal D1 Guzet Higll Sleus 8
The Minimum force required to slide a body of weight “W” on a rough horizontal
49 lane is
" [A. | Wsin® B. | WeosO
C. | Wtan©O D. | None of these
W dget Al Uelel ol v dsL AHERIRY AMAA UR Usal WS w23 ogfotctn
i o
¥e.
A wsin® B. | Weoso
C. | wiano D1 Guret Hiell Alsuel o8l
What will happen if the angle of inclined plane is equal to the limiting angle of
50 friction?
" [ A. | Body will slide down B. | Body will remain rest
C. | Body will climb up D. | None of these
B 2AHL AHAC ol vQll gl ol HAIR o vigu B2 aua Al 3 ad?
uo. [ A | uetd oA uesd B T ueis @238
€.l uetd Gur asal D. | Gurett Higll Asua A4
The energy possessed by a body because of its motion is known as
51. [ A, | Potential energy B. | Kinetic energy
C. | Chemical energy D. | Heatenergy
ueld ofl oA A 5123 datsdell stdafaa_ sdaa,
ut. A | Ry stk B 1 oyltes stefaley
Co i ama@s stda D. | guu sifasa
One Watt=
52, A |[1Vs B. [1Nm/s
C. |10°KW D. | All of the above
| 4R | 1clle=
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A | 11s B. |1 Nm/s
=3
¢ | 107KW D. | Guretl ol o
1 HP.= Watt
53, | A | 1000 B. | 100
C. | 746 D. |0.746
1 8 welr= dle
U2. a 1000 B. | 100
C. | 746 D. [ 1746
A box is pulled by a horizontal force of 10 N for a distance of 5m, what is the value
54 of work done?
" |A. |5N.m B. |15Nm
C. |25N.m D. |50 N.m
As et 10 N olt ARMe2ct et ol Smi@ Hac A & dl st ol (Buet
wy, | vedl?
A. |5Nm B. |15Nm
C. |25Nm D. |50Nm
The equation of Potential Energy is
55. [A. [mv2 B. [m’gh
C. |mgh D. |[mgh
RAREs st of Yot
W A [mv’2 B. [m’gh
C. | mgh D. |mgh
The S.1. unit of work is
56. | A. | Pascal B. | Newton
C. | Watt D. |Joule
sldallaL ol S.L AsH
us. | A | wesd B. | s3jeat
C. Cna D. %C‘t
When water falls from a height above the ground level
A. | Kinetic energy is converted into B. | Potential energy is converted into
57. potential energy kinetic energy
C. | Chemical energy is converied into | D. | None of the above
heat energy
oga{lot oit aqaaa G ot wigll o0 ud R
A ol 2B o Ry AG | B | RARe G of ouldey 2l Mt
ua. Ul wA B, UldR A B
C. | rauaBs 26 of G aba we | P | Gurel Higll slsugl o8l
Fulcl? A 8.
Energy stored in a body due to its position is known as
58. [ A. | Kinetic energy B. | Static energy
C. | Kinematic energy D. | Potential energy
uetsd ofl GARA A 5128 WAslAcll stdalsial séaa
ue. | A | olde abe B. 1 Gar aGa
C. | geat aller A D. | @afde a6
59 The required work done in pumping 100 liters of water to a height of 1 m ( Take
" | g=10m/sec?)
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A, 11000] B. [10J
C. | 10000 D. | None of the above
1m G208 R 100 @22 wiell A ol secu %3dl 5121(g=10m/sec® A
ue, (A | 1000 B. | 107
C. 1000 D. | Guzet migll Slswy o8l
Law of machine is
60. [A, [P=mWIC B. [P=mW+C
C. |P=m/WC D. | None of the above
Hallot Al R
SO. |A. |P=mW/C B. [P=mW+C
C. P=m/WC D. | Gurell 1igd Slyug 44Q
A reversible machine will have an efficiency
61. | A [ =50% B. | >50%
C. [<50% D. |=100%
URealdd 2ot ofl stelatn
ST A [=50% B. [>50%
C. |<50% D. | =100%
The efficiency of simple machine is a ratio of
62 A. | Output/ input B. | Work done by it/ work done on it
" | C. | Mechanical advantage/ D. | All the above
velocity ratio
AUE L1 ofl stelemcl 3 Aol oelit2 &7
A | wiBayes Setye B ] aio giat gdlet stel 2ot uz s2cum
S2. wAA 513
€ l3ellse AsctdwAQNE | D | Guz ot oltiies
EIEEnt
Which of the following is not a simple machine?
63. | A. | Pulley B. | Simple screw jack
C. | Bicycle D. | Motor cycle
1At Hiell 52 g 2 otell?
$3. yell Bl aéleg s
C | onaallse Hle? wase
Mechanical Advantage is
64. 1A, | W/P B. | WxP
. | W+P D. | W-P
Hdollset sty &
S¥. [A TwWP B. | WxP
C. | W+P D. | W-P
For a simple machine, if MA=10 and VR = 20 then what is the efficiency?
65. (A | 10% B. [30%
C. | 50% D. | 70%
ALELRIA 12, B MA=10 el VR =20 lat A steladl ecll a2
sU. A [10% B. [30%
C. | 50% D. | 70%
66 For a simple screw jack, equation of V.R. is
" |A [2Lfpn |B. [ap/L
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I D. [2aLip

C. [ 2np/L

UG ULEL X B HLL, V.R.q] YA
$S. A |2 Lipn B. |xwp/L

C. | 2np/L D. |2aLip

If law of machine is P=:0.5W+3 what is the value of maximum MA?
67. [A. |05 B. |2

C. |3 D. |5

%\ A [AaH P=0.5W+3 &lal Al HatH MA ofl BHd 3ecll awa?
53. 1A 05 B. |2

C. |3 RE

For a simple machine, Input =

68. | A. | Load x distance moved by effort B. | Effort x distance moved by load

C. | Effort x distance moved by effort | D. | Load x distance moved by load

ULELRIA HIE, Soty2 =

ScC. AR

A | clogol x Yottt o3 510¢ B | yamtuo x coet o sillg

Wl

C | Yawton x yaeton ad sty | D | aeet x axet 93 51y

YR veR
For a simiple machine if m= 0.10 and V.R. =10, what is the maximum efficiency of
69 machine?
A | 25% B. | 50%
C. |75% D. | 100%
ALELRIA UL, %l m=0.10 el V.R. =10 &l Al HeH stdatic decll a3l
5¢ A [25% B. | 50%
C. | 75% D 100%

The ratio between the distance travelled by effort and the distance travelled by load is

70. | A. | Velocity ratio

B. | Efficiency

C. | Mechanical advantage

D. | None of the above

Yool ol slUE wdR Bl dwel dd slg AR el oElR
a sdalHl wd B,

J0.

A. | AARZ 268

stelatHal

c. | H¥ellset Ascues

D. |Guretl Higll Slsual «1dl

2k 3k ok st ok ok e 3 sk sk e ke sk ok
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